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1. R @I e 2¥1 Ted 39
Answer any eight questions :
(@) RFW @3 Ffera & gm0 9

What do you mean by statistical unit?

(b) GfeF PR W PIRFR W TRTR R
far 1

Write two uses of cost of living index
numbers.

2x8=16



(c)

(d)

(9)

(h)

(Y

2, 4 W 83 AW Y ¢ A T [efy

39 |
Calculate AM and HM of 2, 4 and 8.

To1) I5PITE S A1 5P TR firdn
Define price index number and quantity
index number.

IECHN GO Qe WEFS T = 100,5= 14,
C=1-02 5= [ =09 2(H y I I 3914 2
In the multiplicative modelof time
series, T=100, S=14, . C=.1-02 and
I'=09, find the value of y:

o1 W"Eﬁa IO TiRFOR IRPRAT @
&9

State the factors responsible for
seasonal vax"iation in a time series.

TS Y51 9 o |
State the two uses of median.

3ft 751 S o SE y T TTFR QAT +1 W
F by, 4 TH 05 R, (SR by, I T
e 2

If the correlation coefficient between two
variables x and y is +1 and byx = 05,
then find the value of b

EHPTE WE AP PIRFT SO -
MRS o121 |

Write the difference between Laspeyres’
and Paasche’s indices.



0) 3 x SF y R PR o e 0-67

R, (OCR'E 4x TF 6y T TH QT
e 2
If the coefficient of correlation between x

and y is 067, then what will be 4he

coefficient of correlation between 4x and
6y?

(k) TSRS S el st fora |
Write the formula for Fisher’s ideal
index number.

(O s srem ol e 11 7

When is rank correlation used?

2. (@) () R @A GG 0. F@WRE AT AR AN
41 @ GM? =AM xHM.

Prove for any two non-zero values
that GM%.= AM x HM.

(i) weTe fray Rereem wifgrdt fefy <

Caleulate median from the following

distribution :
CER RIGS 313307

Marks No. of Students
0-10 20

10-20 25
20-30 32
3040 40
40-50 42
50-60 35
60-70 10




(b)

(it}) SoTS et ©25q e g fiefy 2wy
Calculate the coefficient of variatiop
for the following data :

) G R
Weight No. of Persons

0-10 15

0-20 30

0-30 53

040 75

0-50 100

0-60 110

0-70 115

0-80 125

N34/ Or
(1) AT FA @ X (x—x) =0. : 3

Prove that Y (x-x)=0.
(ii) oo fra Rereq TSR o[ Mg o
faiefg 41 -

Calculate mean deviation from
median for the following

distribution :

2 759 (531) .
Daily wages (&) | No. of Employees

2040 6
40-60 9
60-80 11
80-100 14

100-120 20




(iii) wre T Rereme amfas oo 3
fRefy 41 - 7
Calculate the coefficient of standard
deviation for  the following

distribution :
39 RIS 3T
Marks No. of Students
0-10 8
10-20 13
20-30 16
3040 8
40-50 S

3. (@) (i) < P Ao R wRkes B 3

State the . properties of Karl
Pearson’s.coefficient of correlation.

(i) T ey, 75! SRR AN
8x=10y+66 =0¥F 40x-18y-214 =0
X ¥ y I 7759 BN N g dq1 5

Given the two regression equations
8x-10y +66 =0 and 40x-18y-214 =0

Find the coefficient of correlation
between x and y.



(iti) oo Wl ©URER [/ TR @2
TOETd ANDe Tlerady
Derive the equations of two
regression lines for the following

data :
X :+ 35 42 20 S50 72 64 60
Y 40 48 24 60 84 68 76

1231/ Or

(b) () N9 A @, AVFE QU AT
BT O BASF T4 |

Prove that the correlation
coefficient is the GM of the two
regression coefficients.

(i) o fra SUREIT @ @It =
QIARFY H [T 47

Calculate the coefficient of rank
correlation from the data given
below :

X 48 33 40 9 16 65 24 18 44 920
Y :13.10 24 6 15 4 20 9 10 19

(i) ToTS fwa SR o)1 oo wqe Ry
<9l
Calculate  the coefficient of
correlation from the following data :
Yx=125, Yy =100, T x? =650,
Yy? =460, 3 xy =508, N =25



4. (a) ()

(11)

AHFRF TRF (PR W ? ATOIPRYS T
foran |

What are the different types of
index numbers? Name each of
them.

oot Wil 9 o S I wme
TR fefy 41

Determine the cost of living~index
from the following information :

L] fofe I299 Jo7| ofere TR &9
Items Price of the Price of the Weight
Base Year Current Year
v / Food 30 47 4
&S / Fuel 8 12 1
FICA] / Clothing 14 18 3
Y94 SI¥l / House Rent 22 15 2
1<) / Others 25 | 30 1

(iii)

oo fra ewRT o[ = peice W
AR PeRT (P69 @ wpiR) el
-

From the data given below, find the

price index and quantity index (use
Fisher’s formula) :

1] Po do n )]
Items
A 4 6 6 4
B 2 4 4 5
C 6 4 4 6
D 8 S 10 8




(b)

(Y

o

(iii)

1231 / Or
oI 24 (AR o |

Write the chief features of index

number.

oM P @ ORI PFRFA G T
ASCHAN 25 S TeoAE ARSTa 2
e 31 |

Prove that Fisher’s index number
satisfies time reversal test and
factor reversal test.

e gl oYm, ew AR @ we
GO 7@, A4cl IR <[ e
fiefy 41

Find the’ quantity index number
from “the following data using
Paasche’s and Laspeyres’ index :

9
Items

fofe 329 5leTe %9

Base Year Current Year

3o (501) | AR | gew (b)) | e
Price (?) | Quantity | Price (¥) Quantity

4 10 6 15
6 15 4 20

8 15 10 4




5. (a) (i) 3 TATR 2399 (@A y=0-75t+13
(t =1 923, YEY = 2013) =, (ST
qfZa 24erel ([AR A9 fF 232 3
If the annual trend line equation be
y=0-75t+13 (t=1 year, origin, =
2013), then what is the monthly
trend equation?

(i) IECAR SR oo Rac
SO 41 | 5

Discuss the importance of the
study of time series.

(iii) o T SRR #41 Fuow Iof A9
e fefy 3 8
From the data given below, find the

trend values'by using the method of
least squares

I%9 Pl
Year Value
2001 80
2002 : 90
2003 92
2004 83
2005 o4
2006 99
2007 98
71231/ Or
b) () 9 WS wphe wfEmen R b 5
o1 fer | 3

Write a short note on seasonal
variation in a time series.




(i) T Te 7 YR A 4 IRIW 5O 9

(iii)

AR 2 B 2Tl foefg 47
Estimate trend values by using
4-yearly moving average for the
following data :

i

=9 [
Year Sale
2001 60
2002 46
2003 53
2004 54
2005 48
2006 48
2007 42
2008 51

woTS fral ©UR ~[1 Bpwow I5f A Az
R oo™ I fAfq. I e 2020 9
LA FHIG [ feiefy 1

Using the method of least squares,
calculate the trend values for the
data given below and determine the
probable value of production for the

year 2020 :

359 A
Year Production
2011 80
2012 90
2013 92
2014 83
2015 94
2016 99
2017 92
2018 104




( Old Course )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate fullmarks
for the questions

a) (i) W PR ? Ao REF AN o7 |

How many different-types of data
are there? Name each of them.

-~

(ii) 2, 4, 8 WF 104 FANRI Y NF JIF
TR = =Hefm F90

Calculate ~arithmetic mean and
harmonic mean of 2, 4, 8 and 10.

(iii) oo IRl RerwmR 777 Ay 31 -
Calculate mode of the following

distribution :
Kk RIGES RS
Income No. of Persons
100-110 10
110-120 14
120-130 29
130-140 17
140-150 13




(b)

we gl [Remeem awids [vew oy

(iv)
P4l
Calculate standard deviation for the
following distribution :
399 RIG9 =T
Marks No. of Students
0-10 20
10-20 25
20-30 32
30-40 40
40-50 42
50-60 35
60-70 10
713/ Or
(i) [, S S I TGS 4T TIACH!
fer= |
Write the " relationship between
mean, mode and median.
(ii) I3 OU{ FRAREAR foran |

Write the merits of primary data.

7 (i), oeTe Tyt [ReTeme WS W ey w4

Calculate the value of median for
the following distribution :

G e s1e20m
Weight No. of Children
0-10 10
10-20 14
20-30 19
30-40 17
40-50 13




(a)

()

were ral [Rereee MR [ e g
Aot = Wefg 34 -

Calculate mean deviation from

median for the following
distribution :
99 RIGT AT
Marks No. of Students
0-10 10
10-20 20
20-30 30
3040 20
40-50 40
50-60 30
(i) 2T BN o[ e ¢ 2
What are the properties of
correlation coefficient? |
(ii) IM FAARIL AN GO x+2y-5=0

e 2x+y=8=0 2, (12 x HF
y 3 g 1 2

If the two regression equations are
x+2y-5=0and 2x+y-8 =0, what
should be the means of x and y?

(iii) TS WAl YR o[ TDTEH QAT T

4] .
Find the correlation coefficient from
the data given below :

Ydx=0, Ydy=2, Ydx? =28,
Ydy? =104, Ydxdy =52, N=7



(b)

(iv)

()

(it)

(ity)

TS il AR ST AARTIE AAFI iy
Tfefed :

From the following data, find the
two regression equations :

X =90, =70, N=10, Y x? =6360,
Yy? =2860, I xy =3900

w331/ Or
SRR ARFe Jferce [ 2

What do you mean by regression
equations?

SRR F7R9H019 5 {3 135 2

What are the properties of two
regression-coefficients?

o B x WE y T T BT
r =060, x ¥ y3I #RI FIe 2-25
¥ 4:00, x =10, y =20. ¥3 sYRFT
AT yI ACACF xI TARRIT N9
Tfere |

The correlation coefficient between
two variables x and y is r = 0-60,
variance of x and y are respectively
225 and 4-00, x =10, y =20. From
the above data, find the regression
equation of x on y.



(@)

(v)

()

(12)

(iii)

wed SRR 2[ TTFE QARSI W
ey 91 -

Find the value of correlation

coefficient from the data given

below :

x : 46 54 56 56 .58..60 62
36 40 44 54 42 58 54

THIRS (IR AP AF [ 152

What are the different types of

index numbers?

o1 391 RO PRI AN 2ARSCHAIN
4] P BT |

Prove that Fisher’s index number
satisfies time reversal test.

Sifee! (R IR P & 2 W 9T
R wcersn 34 |

What is cost of living index
number? What are its uses?



(iv) oo T ©UR o[ THE PIRF AN

9l : 7
Calculate appropriate index
number from the data given below :
A forfe I=9 ICICR T
Item Base Year Current Year
¥en A1 o7 A1
Price Quantity Price Quantity
A 4 10 6 IS
B 6 15 4 20
C 8 15 10 14
D 12 20 15 18
E 10 8 12 12
L/ Or
(b) (i) CTICET SEAABR os 7B “fieley

What are the differences between
Laspeyres’ and Paasche’s index
numbers?

(). 35PN [ Sems 34 | 3
Discuss about the limitations of
index number.

(iii) ReoRE e S s 3 R sy
BRI 4
Why Fisher’s index number is
regarded as an ideal index number?




(iv) EeTS

Tfeeqr :

Calculate

Fisher’s

ideal

i oY o[ evRa S PpIIRS

index

number from the data given below :

ST fore 729 bfer® J&I
Items Base Year Current Year
il off=1e el Af3r9
Price Quantity Price Quantity
A 10 10 12 8
B 8 8 8 13
C 12 12 15 8
D 20 15 25 10
E S 8 8 8
F 7 10 6 10
(@ (i) €O @R FRE SemeE 2RSl @
Yo =8+144t (t3I &IF=1 IV,
TRy = 2005) 2 2010 b1 WR)
ST T 2
Given the annual trend equation of
production as Yo = 8 +1-44¢
(t unit=1 year, origin =2005).
Estimate the production of the year
2010.
() STZ TS AMEAKT RSl ff wify-
Eisalcicitn s i
Discuss the disadvantages of
moving average method of

calculating trend values.




=Y

Year

faat

Sales

R

Year

ez
Production

(b)

(iif) SIS WA oY @1 3-q%AW TAB sio
ANANCT 27T forely 31 4

Calculate trend values by using 3-
yearly moving averages from the
following data :

2006 2007 2008 2009 2010 2011 2012

100 120 140 130 110 140 180

() Twex I ANR_aAqT R wes oy
O ] 27ore] e F41 7

Using the method of least squares,
calculate .trend values for the
following data. :

2008 2009 2010 2011 2012

100 140 150 180 200

51231 / Or
(i) FECNR T (IR 2T 2 2
What is a time series?
(i) AT JFE=E SornReTe o | 3

Write the objectives of studying
time series.



Year

Value

(a)

(i) TS RIS I oW T|WR

()

()

(1)

(iii)

ISR & 62

What is trend in a time series?
State " the factors responsible for
trends in a time series.

Frod 35 ANAR SECS S0 il 0y
o1 2i7rsl el 3

Using the method of least squares,
calculate trend values for the
following data :

2001 2002 2003 2004 2005

101 107 113 121 136

HRY A 2

What precautions are to be taken
while forecasting?

s[TerR SRmeRes & 9

What are the limitations of
forecasting?

SIfEm frerR e aft 53 G e |

Write a short note on demand
forecasting.

8



N1Zq1 / Or
(b) (i) IS Frem g @ e

What do you mean by business
forecasting?

(i) [T SIS 9o reel REICe) PN
fReaveR Recw 3 91 1

Explain time series—as a tool of
business forecasting.

(iti) *RSPR e EARRAR Scso= <47 |
Discuss the various steps in the
process of forecasting.

* &k



